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Since the financial crisis began in mid-2007, an important source of losses and of the build up

of leverage occurred in the trading book. A main contributing factor was that the current capital

framework for market risk, based on the 1996 Amendment to the Capital Accord to incorporate

market risks, does not capture some key risks. In response, the Basel Committee on Banking

Supervision strengthens the framework of market risk management . Please answer the following

questions ¢

1.What kinds of specifications should be meet in order to classify instruments as the
trading book ? [104 ]
2.1s it acceptable to recognize the effect of risk reduction when we hedge a banking book
credit risk exposure using an internal risk transfer with the trading book ? Unless what
criteria do you meet to recognize the capital reduction legally ? [54 ]
3.What is the definition of incremental risk charge ? Why we should charge this risk
factor ? [54 ]
4.Regarding the internal model approach , are the following statements correct ? [54 ]
A. VaR should be calculated on a day- to- day basis
B. VaR should be calculated from a 97.5th percentile,one-tailed confidence level
C. The holding period is at least 10 business days
D. The choice of historical observation period for calculating VaR will be

constrained to a minimum length of one year
The data set of calculating VaR should be updated every six months
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James, an analyst in an investment institution, has been analyzing the capital adequacy of a bank
in Taiwan. He has browsed the bank’s web site looking for related information.
1.James found he could download some information about the bank’s capital adequacy and
risk management from its web site. Disclosing the information through banks’ web sites
could enhance transparency of the banks. Which pillar in the New Basel Accord also
emphasizes disclosure requirements? Please roughly describe the meaning of that pillar.
[34)
2.James knew that Basel Il has introduced leverage ratio, liquidity coverage ratio (LCR),
and net stable funding ratio (NSFR).
liquidity coverage ratio were 3.5% and 103% respectively; but could not find its NSFR.
[34)

(1)Compared to the minimum standard set out by the regulator, are both this bank’s

James found the bank’s latest leverage ratio and

leverage ratio and LCR adequate?
(2)When will NSFR become a minimum standard for the bank?
3.When calculating LCR, the high quality liquid assets (HQLA) play an essential role.
Basel 111 has mentioned some characteristics of HQLA. Please list any 5 characteristics
[7~]

4.As for the leverage ratio, LCR, and NSFR, please list their meanings or purposes,

of them, and 2 example assets qualified for Level 1 HQLA.

calculation formulas, required minimum levels after 2019, and reporting frequencies.
[124 ]
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